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QUESTION 1

Which VMware feature would an administrator configure to migrate VMs using vSphere vMotion between ESXi hosts
with different underlying CPU Architectures?

A. Enhanced vMotion Compatibility
B. VSphere HA

C. VMware Fault Tolernace

D. vSphere Storage DRS

Correct Answer: A

QUESTION 2

Which object-based storage can be used to store virtual machines?
A. NFS

B. vWols

C.RDM

D. VMFS

Correct Answer: D

QUESTION 3

What is a benefit of VMware vSphere Storage APIs - Data Protection?

A. It enables centralized, off-host. LAN-free backup of vSphere virtual machines.

B. It allows backup of a virtual machine with a backup agent in the guest OS.

C. Itincreases ESX host resources to do backup processing.

D. It facilitates decentralized, on-host, LAN-free backup of vSphere virtual machines.

Correct Answer: A

QUESTION 4
Which configuration setting ensures that virtual networks on a virtual switch are isolated from each other?

A. Port ID
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B. Network Label
C. Security Policy
D. VLAN ID

Correct Answer: D

QUESTION 5

A vSphere operator finds this error message:

Device or filesystem with identifier [naa.6000eb31dffdc33a000000000000002a] has entered the All Paths
Down state.

What should the operator conclude from this error message?

A. A host Is Inaccessible, and migration of affected VMs is expected.

B. A host failed, and automated recovery of affected VMs Is expected.

C. A storage device has failed and is not expected to become available.

D. A storage device is inaccessible and is expected to become available.

Correct Answer: D
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